// USB_CNC_Machine VE—FPIOWER T /T DAL VBB L R — T 7V
//2017.03.16 fE{ERK by Takehiko Inoue
/1 2018.01.16:revised X,Y,Z #hiiE) steps by T.Inoue

/*********** )( /l’ ‘/E,gii ***************************/

#pragma code

void main(void)

{

[*10 v AIHERE  */

ANSEL = 0x00; // 0b10000000 RC3,RC2,RC1,RCO,RA4,-,- -2 TF ¥ X VTR TE
ANSELH =0x00; // 0b00000000 -,-,-,- RB5,RB4,RC7,RC6 7 % /L
TRISA = 0xFF; // 0b00111000 -,-,RA5,RA4,(RA3),-,-,- ATJ

TRISB = 0x30; // 0b00110000 RB7,RB6 i/, RB5RB4 AJj--,,-
LATB = 0x00; I 81

LATC = 0x00; I 81

TRISC = 0x00; /I RC0,1,2,RC3-7 tH )

I* ADC #IH1E */

ADCONO = 0; I AZ 1k

ADCONT1 = 0; // VDD-Vss

ADCON2 = 0; /l FOSC/2

/* USB B **/

USBDevicelnit(); /1 USB #1#{t

USBGenericInHandle = 0;

USBGenericOutHandle = 0;

blinkStatusValid = TRUE; /' USB HHILED A2k
[** USB 7 % » F&Fr] &L EI VD IALFFR] */



USBDeviceAttach();

/*********** 714’>//Dh_:f ***************/

while(1)
{
/** USB HHI LED s **/
if(blinkStatusValid)
BlinkUSBStatus(); /I LED RJ&3EAT
[F** USB $ft 178 BIRZAFHRAT **¥/
if((USBDeviceState >= CONFIGURED_STATE)&&(USBSuspendControl!=1))
ProcessIO0); /| —H—T 7 ) FLT
J

}
/***************************************************
*oa—WP—7 7Y AHALEES KL

*USB 5D~y NI LY EERESEST

***************************************************/

void ProcessIO(void)
{
int 1=0;
int j=10; //Delay100TCYx()(10)=0.1ms DiRIE
int k=9; //Delay1KTCYx(k)(9)=0.9ms DiEIE
int n=15; //Delay1 KTCYx(n)(15)=1.5ms D i#IE

/***** ﬁfb_fzg%ﬁg&@ﬂﬁ ******/

if((lUSBHandleBusy(USBGenericOutHandle)) Il ZAE5ET N2



[ ZARF— XY L

blinkStatusValid = FALSE; // USB BFEILED 1t
counter = 0; I EENA RV 'Y b
INPacket[0] = OUTPacket[0]; /| —ma3a—/Ny 7

INPacket[1] = OUTPacket[1];
/******** :7\‘/ F‘@m@ ********/
switch(OUTPacket[0]) /| A~ RRa—RKFzv 7o
{
[** GRS OK A **/

case CHECK:
INPacket[2] ='0";
INPacket[3] = 'K
counter=0x04; I EEANA M4
break;

[F* A E ISR LRERISE D56 *H

case POUT:
if(lmPI_1)
{
LimitStop();
break;
b
elsel

if(OUTPacket[1] == 0x32){ /1DO 7 K LA 1PO2_X #ih[alfix f7 [n)



if(OUTPacket[2] == 0x30)

{ mPO_2_Off(;
DelaylKTCYx(n);

¥

else if(OUTPacket[2] == 0x31)

{ mPO_2_0n0;
Delayl1KTCYx(n);

¥

counter = 0x04;
INPacket[2] = mPIO_2 + 0x30;
b
if(OUTPacket[1] == 0x34){
if(OUTPacket[2] == 0x30)
{ mPO_4_Off();
Delay1KTCYx(n);
b
else if(OUTPacket[2] == 0x31)
{ mPO_4_On0;
Delay1KTCYx(n);

counter = 0x04;
INPacket[2] = mPIO_4 + 0x30;
H
if(OUTPacket[1] == 0x36){
if(OUTPacket[2] == 0x30)

/1 Off 7 |4 cw(green)(+)
Il 7 % 7577 Bk C R

/1 On 1 ccw(red)(-)
Il 7 % b H 77 HIbRC KR

/DO 7 KL & 1PO4_Y Hih[al#s )7
/1 Off 48 cw(green)(+)
Il 7 4 N7 77 ElbRC iR

// On ## cew(red)(-)
Il 7 % 75177 Bl C s

// DO 7 K L A 1PO6_Z Hililaliiz f5 7]
/1 Off |18 cw(green)down(-)



}

{ mPO_6_Off();

DelaylKTCYx(n);
¥
else if(OUTPacket[2] == 0x31)
{ mPO_6_0n0;
DelaylKTCYx(n);
¥

counter = 0x04;
INPacket[2] = mPIO_6 + 0x30;

if(OUTPacket[1] == 0x37){

}

if(OUTPacket[2] == 0x31){
mPO_7_0On0;
Delay1KTCYx(n);

b

else if(OUTPacket[2] == 0x30){
mPO_7_Off(;
Delay1KTCYx(n);

counter = 0x04;

INPacket[2] = mPIO_7 + 0x30;

if(OUTPacket[1] == 0x31){

if(OUTPacket[2] == 0x30)
{

Il 7 % &7 F HIkRC R

/1 On i cew(red)up(+)
Il 7 % b H 77 HIbRC KR

// DO 7 KL A 1PO7_MillMotor_on-off
// On &1 run(red)

/1 Off |18 stop(green)

11 X ity IR
// On fHilE un) H> ?



for(i=0;i<10si++){
//mPO_1_0On();

Delay100TCYx();
mPO _1_Off(;
DelaylKTCYx(k);
mPO_1_0n0;
H

H

else if(OUTPacket[2] == 0x31)

{ mPO_1_Off(;
Delay1KTCYx(n);

§

counter = 0x04;

INPacket[2] = mPIO_1 + 0x30;

if(OUTPacket[1] == 0x33){
if(OUTPacket[2] == 0x30)
{
for(i=0;i<10;i++)1
//mPO_3_0n0;
Delay100TCYx();
mPO_3_Off(;
DelaylKTCYx(k);
mPO_3_0On0;
§

/110 7V A D34 (1/40 [BlH5=1.0x 1/40=0.025mm)
// run clock A > flJ4H

11 Off il {El(stop) A~ 2

// run clock A 7 il 4

I EfF A b4

I REEINEE > b

/1Y SR )

/1 On #1772

/110 7V ADFEAE (1/40 [AIEE=1.0 x 1/40=0.025mm)
/I On il )



}

H

else if(OUTPacket[2] == 0x31)

{ mPO_3_Off(;
DelaylKTCYx(n);

H

counter = 0x04;

INPacket[2] = mPIO_3 + 0x30;

if(OUTPacket[1] == 0x35){

if(OUTPacket[2] == 0x30)

{
for(i=0:i<10:i++)1
//mPO_5_0n0);
Delay100TCYx();
mPO_5_Off();
Delay1KTCYx(k);
mPO_5_0n0;
H

H

else if(OUTPacket[2] == 0x31)

{ mPO_5_Off();
Delay1KTCYx(n);

H

counter = 0x04;

INPacket[2] = mPIO_5 + 0x30;

I1Z Hi SR
/1 On 417> 2

/110 7L ZAD384 (1/40 [M#5=1.0 x 1/40=0.025mm)
/1 On il



break;

/**** #?Eﬁﬁ% **************/

case ALL:
[* DLIRREE > |~ */
if(mPL_1){
INPacket[2] = 0x30;
b
elset
INPacket[2] = 0x31;
LimitStop();
b

counter = 4;

if(mPI_2)

INPacket[3] = 0x31;
else

INPacket[3] = 0x30;

counter = 4;

break;

[ Uy KT R wE

case RESET:
Reset();

// LimitSwitch IRKHE OK 75> ?
// OK-On &+t » b

/I Stop-off J&& &~ k



break;
/*** Z: Eyq ****/
default:

NopO;

break;

/**** USB %§1§£/? *****/

if(counter != 0) I EFT =20 N2
{

if((USBHandleBusy(USBGenericInHandle)) I E—F vV

{ I* EEFAT ¥

USBGenericInHandle = USBGenWrite(USBGEN_EP_NUM, (BYTE*)&INPacket,64);

i
I* IRDZAFEAT */
USBGenericOutHandle = USBGenRead(USBGEN_EP_NUM,(BYTE*)&OUTPacket,USBGEN_EP_SIZE);



